FHBEE ALBRRUEZH—E

SH4E3A31H

[ RAISEERETF ] (BAL:FAHERFZET)
o |HmER| T % % 0 & B | T A |AdFx|Feas|znes| G E Isamal 2 o0 % =
1 KER |RHSEE KEREXHBERT ZTDOMERE | HERBFALNL 3,449,600 3,410,000 98.9 R43.23|RILIREFAFEMRA S

2 KER |FHSEE RKRAEXRBERTR TOMER | FHEmFAL 6,509,800 5,918,000 90.9 R3.11.5(TUhhfEsRk X 4t

3 YSEE S %*gf’,fo; SEE’KM*H RBEEEE msmi | mapeid 3,476,000 3,300,000 94.9 R4.3.21|#kX £t BN

o | Ao (DHOFEREABABREEHNRE amme | memsas|  ssoo0 20700000 00|  Ras2ilpstau EHASSE

5 | TKER Z%iﬁgfffzgﬁ%%%éig%% TOMER | HEHFAL 16,863,000/ 16,390,000 97.2 R4.3.31 Tfj;*i WRRIRT V=7

=i

o | T [GHIFRTARERREIINN mmwat | mameas| 056000 10450000 994 |  Rezzs|tzst hEAMEHE

1 | mpmemn [BHITE SEBRARDER ropzn | wmzw 10817.180] 10817180  1000|  Ras3i|Rat Ko

8 | IRIRBIAR ﬁ;u%ﬁr‘ KB 24F5 T #05% ZDET RES 224 1,729,200 1,729,200 100.0 R4331 |4t REE

9 | RIREAR i@%;%gfaﬁﬁgwﬁﬁﬁ ZDfthEE FEE 2249 638,000 638,000 100.0 R4331|HEX =4 wIL=

10 | BIEAER gg%@%ﬁﬁﬁﬁt’ SEEE| romzn | mERR 184,140,000 184,140,000 100.0 R4.3.31 ﬁgﬁﬁﬁ MAEESTY
1| REHER %E%%ﬁr;lggél\iﬁm”“*%m TOMER | HEHREAMN 673,200 594,000 88.2 R43.31| TXTRBHEHA S

12 | IRIERAER Efg%ﬁ%g;%g;%%&;kﬂ@ TOMER | FHEmEFAL 3,410,000 2,838,000 83.2 R4331(Ov /D) TA M =4E




[ REHHE)

FHBEE ALBRRUEZH—E

SH4E3A31H

(B HERFEZED)

o |HmER| T % % 0 & B | T A |AdFx|Feas|znes| G E Isamal 2 o0 % =

13 | RIERIAER i@iﬁ%ggg}?ggﬁm&u ZTDOMERE | HERBFALNL 981,750 770,000 78.4 R4331|TXIRIREHAE4

14 | IRIBRIAES EE%@%&?@MQ%Q{T#/“ TOMER | FHEmFAL 803,000 715,000 89.0 R43.18| TXIRIRIEH A &4t

15 | IRIERIAER gﬁ%ﬁ%;ig%qw{* T zomsn hEE 2% 541,200 520,300 96.1 R4.3.29| TXIRIRFEH A &4t

16 | IRIRRIAER g%aﬁﬁﬁrg;ﬁ;;ggggggﬁ%ﬁ ZDMEE | HERZEALNL 2,791,250 2,640,000 94.6 R4.3.31 (%X & T A B ARBHMFAR
17 | REERAER %@%ﬂﬁﬁgﬁ?@iﬁﬁﬁi ZTOMETE | HERBFALNL 13,703,800 13,200,000 96.3 R43I|MASHITA B REMFHFE
18 | mumrasg (S RSFRE LRIBSEHANRANE 2omzs | mameai 713000 528000  740|  R4331|SwsooyTAMstan

XBRE




